

Name:

## Rearranging equations!

Foundation	Higher
<p><u>Solve for x:</u></p> $2x + 5 = 17$	<p><u>Make r the subject of the equation:</u></p> $V = \frac{4}{3} \pi r^3$
<p><u>Rearrange the equation below to solve for y:</u></p> $4y - 9 = 7$	<p><u>Make w the subject:</u></p> $\frac{5-q}{w} = 5-a$
<p><u>Simplify the expression:</u></p> $3(a + 2b) - 5a$	<p><u>Rearrange for r:</u></p> $P = \pi r + 2r + 2a$
<p><u>Solve for x in the equation:</u></p> $3(x - 4) = 21$	<p><u>Make m the subject of the formula:</u></p> $2(2p + m) = 3 - 5m$
<p><u>Rearrange the equation below to solve for z:</u></p> $\frac{2}{3z} = 10$	<p><u>Rearrange for t:</u></p> $Y = \frac{2pt}{p-t}$

# Solutions!

Foundation	Higher
<p data-bbox="204 331 352 365"><u>Solve for x:</u></p> $2x + 5 = 17$ <div data-bbox="252 459 734 1240" style="border: 1px solid black; padding: 10px;"><p data-bbox="272 472 683 544">First, move over the 5 to the right-hand side.</p><p data-bbox="272 584 715 860">You must <b>subtract</b> 5 from both sides as you need to do the <b>opposite operation</b> to move it to the other side. Since its +5, the opposite sign will give you -5 (to both sides). This will end up eliminating the +5 from the right side.</p><math data-bbox="379 898 608 931" display="block">2x + 5 - (5) = 17 - (5)</math><math data-bbox="427 965 560 999" display="block">2x = 17 - 5</math><math data-bbox="448 1032 539 1066" display="block">2x = 12</math><p data-bbox="272 1099 628 1133">Finally, divide by 2 both sides.</p><p data-bbox="408 1167 576 1200">Therefore <u>x=6</u></p></div>	<p data-bbox="809 331 1273 365"><u>Make r the subject of the equation:</u></p> $V = \frac{4}{3}\pi r^3$ <div data-bbox="857 459 1339 1240" style="border: 1px solid black; padding: 10px;"><p data-bbox="877 472 1315 584">Firstly, we want to isolate <math>r^3</math> by itself. To do this, have a look at the steps below:</p><ol data-bbox="927 618 1286 815" style="list-style-type: none"><li>1) Multiply both sides by 3</li><li>2) Divide both sides by 4.</li><li>3) Divide by <math>\pi</math> on both sides.</li><li>4) The take the cube root of both sides.</li></ol><math data-bbox="1011 848 1182 949" display="block">v \times 3 = 4\pi r^3</math><math data-bbox="1018 882 1174 949" display="block">\frac{v \times 3}{4} = \pi r^3</math><math data-bbox="1038 983 1158 1055" display="block">r^3 = \frac{3v}{4\pi}</math><math data-bbox="1031 1066 1166 1167" display="block">r = \sqrt[3]{\frac{3v}{4\pi}}</math></div>

Rearrange the equation below to solve for

y

$$4y - 9 = 7$$

First, move over the (-9) to the right-hand side.

You must **add +9 to both sides** as you need to do the **opposite operation** to move it to the other side. Since its -9, the opposite sign will give you +9. This will end up eliminating the -9 from the right side.

$$4y - 9 + 9 = 7 + 9$$

$$4y = 7 + 9$$

$$4y = 16$$

Finally, divide by 2 both sides.

$$y=4$$

Make w the subject:

$$\frac{5-q}{w} = 5-a$$

There are 2 ways to do this:

**Method 1:**

Start with multiplying both sides by w.

$$\begin{aligned}\frac{5-q}{w} \times w &= (5-a) \times w \\ 5-q &= w(5-a) \\ w &= \frac{5-q}{5-a}\end{aligned}$$

**Method 2:**

Flip the fraction. Make sure you always do it to both sides.

$$\begin{aligned}\frac{w}{5-q} &= \frac{1}{5-a} \\ w &= \frac{5-q}{5-a}\end{aligned}$$

As you can see, method 2 is slightly faster but always check both ways to see if you end up with the same answer. This ensures that you're not making mistakes to gain the highest possible marks.

Simplify the expression:

$$3(a + 2b) - 5a$$

First, **expand** the bracket.

$$3a + 6ab - 5a$$

Then, Collect **like terms**.

$$6ab - 2a$$

Finally, **factorise** out a common term. In this case **2a** is common to both so we can write the top as:

$$2a(3b - 1)$$

Rearrange for r:

$$P = \pi r + 2r + 2a$$

Start by moving **2a** to the left-hand side.

$$P - 2a = \pi r + 2r$$

Then factorise.

$$P - 2a = r(\pi + 2)$$

The divide by **( $\pi + 2$ )**

$$r = \frac{P - 2a}{\pi + 2}$$

Solve for x in the equation:

$$3(x - 4) = 21$$

First, **expand** the bracket.

$$3x - 12 = 21$$

Then, move the **-12** to the right-hand side by adding **+12** to both sides.

$$3x - 12 + 12 = 21 + 12$$

$$3x = 21 + 12$$

$$3x = 33$$

Finally divide by **3**

$$x = 11$$

Make m the subject of the formula:

$$2(2p + m) = 3 - 5m$$

Start off with expanding the brackets.

$$4p + 2m = 3 - 5m$$

Then collect like terms.

$$4p + 2m + 5m = 3$$

$$7m = 3 - 4p$$

Finally divide by **7**

$$m = \frac{3 - 4p}{7}$$

Rearrange the equation below to solve for

z:

$$\frac{2}{3z} = 10$$

There are 2 ways to do this:

**Method 1:**

The left-hand side is being divided by  $3z$ . So, to move this we must do multiply both sides by  $3z$  to get rid of it from the left side (opposite operation). This will eliminate the  $3z$  from the left.

$$\frac{2}{3z} \times 3z = 10 \times 3z$$

$$2 = 10 \times 3z$$
$$2 = 30z$$

Finally divide by 30 and simplify.

$$30z = 2$$
$$z = \frac{2}{30} = \frac{1(2)}{15(2)}$$
$$z = \frac{1}{15}$$

**Method 2**

You can put  $z$  on the top of the fraction on the left side by flipping both sides of the equation.

$$\frac{3z}{2} = \frac{1}{10}$$

Then simply multiply both sides by 2 and divide by 3.

$$\frac{3z}{2} \times 2 = \frac{1}{10} \times 2$$
$$3z = \frac{2}{10}$$
$$z = \frac{2}{10} \div 3$$
$$z = \frac{2}{10} \times \frac{1}{3} = \frac{1}{15}$$

Rearrange for p:

$$y = \frac{2pt}{p-t}$$

Start of with multiplying both sides of the equation by  $(p-t)$ .

$$y(p-t) = 2pt$$

Then Expand the brackets.

$$yp - yt = 2pt$$

Put any terms with  $p$  on one side and the rest on the other. Use these steps:

- 1) Subtract  $2pt$  from both sides.
- 2) Then add  $yt$  to both sides.

You should end up with the equation below.

$$yp - 2pt = yt$$

Factorise

$$p(y - 2t) = yt$$

Finally, divide by  $(y-2t)$

$$p = \frac{yt}{y - 2t}$$